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winter this year, Heavy snow ha

millions Qf workers are stuck in bus and ra'bwv stations, :

law (B84 L) starts to hit all firms in China, Zu‘i‘@igﬁ as well

this new law, all employees who have worked iz

entitled to a labor contract without time limit. T

of planned economy, a step towards life-long
Hauwei (FEES), China’s national champion i

circumvented this new law by i mpéemamwg

#E e, which is, to fire and re-hire all employees who have worked for more than 8 vears

(58,000 in total). Although it raised a great stir in the media, China’s central government still

keeps silent so far. However, as a Taiwanese firm in China, Honhai has

consequences of opposing China’s central government. The number of employees of Honhai

in China has exceeded 650,000, about 10% of which would be eligible for labor contract.

This percentage will keep on rising over time anyway. Besides, contrast to Huawel’s prestige

in innovation and marketing, Honhai is notorious for labor abuse in the process of los w-end

assembly.

e
s

Terry has spent weeks to analyze the situation and find out the solutions. He decided to

° 0

be more than cooperative: not only to be the first Taiwanese firm introducing the new law, but

e

also adopt an even more aggressive strategy. This strategy will put all employees in the tenure
track: first contract is on two or three-year basis, second three-year, and third without time
limit. What Terry didn’t tell the press is that Honhai will at the same freeze labor recruitment

in China. He sips of his hot and then casts his eyes on a map, which writes “Vietnam”.

1. Which of the following can best describe Honhai’s business model?
a. OEM (original equipment manufacturing)
b. ODM (original design manufacturing)
c. OBM (original brand manufacturing)

d. EMS (Electronics manufacturing services)
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modei?

b, time-fo-volyme

c.  inventory flexibi

d. engineering and manufacturing services

Since 2002, Honhai has doub
mechanism/s to drive growth?
a. branding
b. patenting
c. costdown

d. wvertical integraticn

Honhai’s relocation to China is primarily based on the consideration of?
a. market sales
b. labor suppiy and costs
¢. land supply and costs
d. access to knowledge and technology

1

To build 2 manufacturing empire in China, what kind/s of strategy would |

C’f‘

e mvolved
a. building production bases at multiple locations

b, establishing marketing channels

c. financing at multiple stock markets

d. labor recruitment

In order to link R&D centers, logistics hub and production bases all over China, what
kind/s of tool would be deployed?
a. TQM (total quality management)
. CAD/CAM

b
¢. information system
d

o

human resource man agemein

Terry is sometimes called Genghis Khan (75 {T) by the media. Which h of the

following can best describe Honhai’s corporate culture?
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b democ

c. authoritarian

8. According to your understanding on Honhai, which of the o Howing managsment
features of Genghis Khan can be also found in Honhai?
a. profit sharing
b, eliminate office politics
¢. embrace chang

d. think ahead

6. As Honhai’s scale and scope keep on expanding, what kind/s of ch allenge will Terry
have to face?

a. construction of plants and assemb!
b. sustainability of
¢. financial management
d. labor recruitment and training
10. Honhai just went public at Hong Kong stock market as FIH (Foxcorn International
Holding). What would be its primary ¢ onsideration/s?
a. evade taxes
b. evade Taiwan’s restrictions on investment in China
c. leverage international capital
d

distribute risks among financial markets

11. The reasons why Honhai didn’t follow Huawel’s move are because of their dkwre%ea in

corporate image

o China’s central government

o

connections

a
b. nationality
C

d. business model

12. What kind/s of impact will pessible hit Honhai after the implementation of the Labor
Contract Law?

a. labor lawsuit
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c. improve corporate mabe

d. restruciure incentive system

14, If Tervy wanis to mi@@a‘aa S

the following will be the first to be considered?
ei'

?J

components with short life cycles

logistics

S

non-volatile component

components or assembly require skilled la
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Coniract Law?

functions to Vietnam, which of

15. What problem/s will Honhai probably encounter in the initial stage of relocating from

China to Vietnam?
a. labor shortage

b. institutional barriers

¢c. language and cultural barriers
d. inadequate infrastructure

Please read the article and then answer the subsequent 10 questions ( ie., 16-25) accordingly.
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16, TSMC introduced a new business mode

a. 1DM (integrated device manufacturing)
b. foundry
¢. design house

specialized supplier

P,A

17. The core compeiency «
providing
a. design service
b. mask service
¢. wafer fabrication service

d. assembly and test service

18. What are the forces driving the growth of wafer size
decreasing unit cost of chip fabrication

Moore’s law

&

o

increasing entry barrier

scale economies for autcmation

P

16, Moore's Law describes an important trend of IC: the number of transistors that can be
inexpensively placed on an IC is doubling approximately every 18 months. What was
this law really about when Gordon Moore published it in 19657
a. an observation from the history
b. aforecast about the future
¢. agoal for the entire industry

d. aprophecy deemed to be fulfilied

70. How did this law affect the development of semiconductor industry in general?
a. shorten time-to-market
b. increase transistor density

c. increase development costs
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b. upgrade lithogr
¢. increase wafer size

d. increase the complexity of fabrication processes

a. shortage of raw mate

c. @h}zsmaé limit of litho

d. replacement ofs

23, According to Porter’s five-force analysis, how will the investment in pa ing increase
. A ramg ey s nive- 121YSIS, NOW Wil the mvesiment i Packaging moerease

TSMC’s competitiveness?

a. raise enfry barriers

b. strengthen TSMC’s current position

¢. increase bargaining power vs. suppliers
d. increase bargaining power vs. customers

24. What else would TSMC possibly do to increase its competitiveness
a. recruit more talent
b. invest in design

¢. integrate activities along the value chain

d. raise more capital from the stock marke
25 TSMOC’s control over FEM BN is primarily based on the use of

a. ownership

b.  operation right

c. stock share

d. the appointment of high-ranking officers

Please read the article and then answer the subsequent 14 questions (i.e., 26-39) acwa*d gly.
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in Apple’s Lo

while preparing for a |
phone with a multi-touch scre
phone operator, O2. The iPhone’s ;

during the initial 36 hours of del

took a firm stand in its first step in the mobile phone market, it didn’t necessarily mean Apple

was able to do as well in is next step.

more intensive competition. For exampl

Besides, in UK, iPhone was sold, maiml
service for the Europe market, at a pr:
plan starting at GBP 35. Onthe ¢
market dominating almost double mar]
high-end music phones were free o
A report on the WSJ regarding 1
It reported that Wokia partnering w
world) introduced a service called “Comes with Music’ in Decemt
service, customers were able to ‘buy and download music via Nokia’s handsets.
would make iPhone’s function of music download less unique. Nokia was looking for
partnerships with other large music companies such t that its music catalogs could be enlarged.
In addition to music access, Nokia kept exploring the new multimedia services, such as
games and GPS (global positioning system), for its mobile devices. It seemed to Rogers that
Nokia intended to defeat Apple’s invasion face to face. In November 2007, Nokia opened a
flagship store which was very close to Appl@is own London store fcxhibitiﬁg and selling
Phones. Nokia even employed the architectural firm that had worked on Apple’s stores.
Nokia hoped that its stylish store desxgz% and many similar features would further compete

with iPhone’s stores. Nokia’s new phones featuring scrolling wheel also looked much like

Apple’s iPod. Rogers worried about what Apple should do to respond to Nokia’s moves

26. Which of the following can best explain Nokia’s moves in the last quarter of 2007 and in

the near future?
a. Strengthen one’s own current position
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iPhone’s pricing in Eurcpe is |
a. cost

b. competition

reeived v

c. customers’ pei
d. target demand
The way Nokia is doin

a. contraction defense

3

+1 F=tals -t
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alue

b, counteroffensive defense
c. preemptive defense
4. flank defense

i{Phone’s intrusion in Burope can be characterized by which of the following speci

attack strategy?

a
b = ,m:r i,ﬂrwca + ﬁtfv—?,«?;—
. encirciement altavs

market concentrafio

0

d. product innovation

3G phone users who are fascinate
following needs?

a. physiological need

b. safety need.

c. social need

d. esteem need

Motorola is the 2

what is Motorola’s relative market
a. Between 20% and 29%
b. Between 10% and 19%
c. about 1/2

h O fic
d with the video telephony are pursuing which of fthe
diq“ " i. eE 1 . 12 o n{\a ~ 1 . IR SN ‘Q"V’-’W % iy
argest mobile phone suppiict globally. According {0 tne asove article,
share in global mobile phons e market?
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and Wi
represent the sales |
upward with enlarging ¢ ircle on the BCG matrix. Whick of the following i |
description of Motorola from 2006 to 2007 on the BCG matrix?
s Motorola’s sales volume is incre eased
b, Motorola’s market share is increased
c. Motorola may move vertically up sward or vert
d. Motorola may move horiz yntally left or horizonf
33. As Rogers’s senior vice [ resident in strategy who studies The Art of War by Sun Tzu
very well, you point out that Nokia’s strategy can be best described as:
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34. In addition to disclosing Nokia’s strategy, you are asked o propose iPhone’s competitiv

strategy in Europe. Which of the following is the best applicable strategy 0 iPhone
a. ?’Sﬁiaﬁﬁ‘%ﬁ% ? ﬁﬁ”.ﬂnéf} %E%Ah ’ ;ie;«“:ﬁ wjf‘ 'A,%: ' 5%‘,%‘:1, 7.5
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15, Consistent with the above answer, 11 Of -der to identify iPhone’s target market, Rogers is

supposed o s@:nmdpr the following information EXCEPT:
the market potential of f mobile phones or smar iphone

the underlying demands of potential mobile phone users

o P

Motorola’s core competences

o
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36, What is the best advertising str

informative ad

g\g

b.  persuasiy
¢. reminder advertising

d. reinforcement advertising

a
b, direct channel
c

multiple channel

.

hybrid channel

38. From Nokia’s perspective, the partnership between lokia and
best described as
a. complementary alliance

competitive collaboration

6 o

vertical partnership

o

strategic cooperation

39. Nokia keeps extending its multimedia services in order o

enhance credence quaiiiies

a.
b. increase competitive differentiation
¢. establish product-feature sp@@iaﬁsi:
d. take advantage of single-segment concentration

of their spillover effect. Which

40. Managers watch changes in technology closely because 0
of the following is NOT considered a technology spillover risk?
a. Employees
b. organizational structure
C. processes
d. resistance to change

41. Effective managers welcome some degree of conflict because it
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472, Which of the following motivation theories focuses PRIMIARILY on the social nature of

motivation?
z. acquired needs theory
b. equity theory
c. expectancy theory
d. two-factor the

a. do subordinates hav
b. how impﬂﬁ;an’f: is the su

¢.  how important is the qu

44. A mission statement articulates t

contains

?3

oo

2

45. In a declining industry

n-making model implies that the most important question

s

+1

a value proposition

pr i nary activities

all of the above

e suilicient 1

1 7 1 TR S SNPISR S e & : 3 ey £ 1
n decid Fﬂg how much subordinale participalicn 1o ©F COUrage s

bordinate

d. is the problem well structured?

ii

he fundamental purpose of the organization and o

a company identity or self-concept

a. product differentiation efforts are focused on product refinement as 2 basis of

iffer

product

entiation

erceived technolo s»,,ai?i adership
1%

c¢. highly differentiated firms may be able to gain product differentiation

advantages by preempting strategi ically valuable assets
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d. multidimensional scaling
47. Companies good at launching new proc incts often have  culture that encourages

risk-taking and the open exchange ot 1aeas.

a. an entrepreneurial
b. a centralized

Q.ﬂ

¢. 2 marketing oriente

d. acollaborative

48. Even though most pe@pis in the original target market for electric t oothbrushes already

knew how to brush their teeth, consumers still had some learning to do in order to make

good use of the new brushing technique. The electric toothbrush is an exampie of a

a. dynamically continuous innovation
discontinuous innovation

competitive innovation

o0 o

moderate innovation

49. General Mills has developed an experiential website called MyCereal.com. Visitors to
this site can mix their own cereal ingredients. By allowing customers to devéﬁop their

1

own cereal according to their desires, General Mills is making further implementation
a(n) .

a. full line strategy

b. marketing mix strategy

c. production differentiation strategy

competitive stretch straiegy

50. A skunk work is most closely related to .

a. a specialized form of brand extension
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